Perfect Competition in the Long-Run
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	Perfect competition Review

1. Identify the 4 Market Structures
2. Identify the characteristics of perfect competition
3. Why is a perfectly competitive firm a “price taker”?
4. Explain why perfectly competitive firms make little profit
5. How do ALL firms determine what output to produce?
	6. Draw a perfectly competitive firm producing 10 units at a price of $10 making a profit of $30
7. On your graph, identify the shutdown point


	Today’s objectives: 

· Explain the Long-run average cost curve of perfect competition

· Explain the Profit-maximizing rule for perfect competition and monopoly 
· Be able to read, analyze and graph perfect competition and monopoly market structures. 


Use the graph below to answer questions 1-2. The figure shows a perfectly competitive firm that faces demand curve d, has the cost curves shown, and maximizes profit.
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1. In long-run equilibrium, this firm will produce ________ units of output and sell its output at a price of ________.

a. 100; $1.00


b. 250; $1.90


c. 300; $2.00


d. 400; $3.00


e. 300; $3.00
2. The firm's economic profit in the long run will be:

a. zero.


b. $250.


c. $275.


d. $300.


e. $400.

3. If firms are experiencing economic losses in the short run, firms will _____ the industry and industry output will ________ and price will ________ in the long run.

a. exit; fall; rise


b. exit; rise; fall


c. enter; rise; rise


d. enter; fall; rise


e. exit; rise; rise

4. Suppose that the market for haircuts in a community is perfectly competitive and that the market is initially in long-run equilibrium. Subsequently, an increase in population increases the demand for haircuts. In the short run, we expect that the market price will ________ and the output of a typical firm will ________.

a. rise; rise


b. rise; fall


c. fall; rise


d. fall; fall


e. rise; remain constant

Use the graph below to answer questions 5-6.
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5. If the price is P1 in the short run, what will happen in the long run?

a. Nothing.  The price is consistent with zero economic profits, so there is no incentive for firms to enter or exit the industry.

b. Individual firms will earn positive economic profits in the short run, which will entice other firms to enter the industry.


c. Individual firms will earn negative economic profits in the short run, which will cause some firms to exit the industry.


d. Individual firms will earn positive economic profits in the long run, which will entice other firms to enter the industry.

e. Because the price is below the firm’s average variable costs, the firms will shut down.

6. If the market price is P4, in the short run, the perfectly competitive firm will 

a. earn positive economic profits.


b. earn negative economic profits but will try to remain open.

c. earn negative economic profits and will shut down.
d. earn zero economic profits.


e. break even.

7. Use side-by-side graphs of a perfectly competitive market and an individual firm competing in that market to illustrate the following situations:

a. A firm in a classic shut-down position in the short run.

[image: image3.emf]
b. Economic profits disappearing in the long run. (Show the steps beginning with a profit and ending at normal profit.)
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c. Economic losses disappearing in the long run. (Show the steps beginning with a loss and ending at normal profit.)
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